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General English - General English

Question No.1 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.
 

She went to the United States _______ summer holidays.
 (A) at 

(B) on (Chosen option) 
 (C) since 

(D) during (Correct Answer)

Question No.2 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.
 

Babies ___________ around so much because they haven’t developed the coordination
to balance on their feet yet.

 (A) build 
(B) crawl (Correct Answer) (Chosen option) 

 (C) burst 
(D) extend 

Question No.3 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.
 

The author___________ a crime novel.
 (A) have wrote 

(B) have written 
(C) writes 
(D) has written (Correct Answer) (Chosen option) 

 

Question No.4 Marks: 1.00
Bookmark     

Choose the word which means most nearly the same as the given word " VIGNETTE ".
 (A) Vagueness 

(B) Ambiguity 
(C) Nonsense 
(D) Depiction (Correct Answer)

 

Question No.5 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given

ppp.e�am�hase.c�m

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



options. If the given sentence is correct then select the option 'The given sentence is
correct'.

For students, the death of a friend or a loved one can be confusing and disorienting.
(A) can confusing and disorienting 
(B) can be confused and disorienting 
(C) can confuse and disorienting 
(D) The given sentence is correct (Correct Answer) (Chosen option) 

 

Question No.6 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.
 

Several cities have dramatically improved their air quality _____________ recent years.
 (A) on 

(B) except 
(C) along 
(D) in (Correct Answer) (Chosen option) 

 

Question No.7 Marks: 1.00
Bookmark     

Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if
no article is needed.

 
What about going to London in ______ June?

 (A) the (Chosen option) 
 (B) a 

(C) No article (Correct Answer)
 (D) an 

Question No.8 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.
 (A) Peculier (Chosen option) 

 (B) Unmitigatad 
(C) Reproache 
(D) Unanimity (Correct Answer)

 

Question No.9 Marks: 1.00
Bookmark     

Choose the word which means most nearly the same as the given word " FRENETIC ".
 (A) Hyper (Correct Answer) (Chosen option) 

 (B) Flexible 
(C) Peaceful 
(D) Calm 

Question No.10 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.
 (A) Eroneous 

(B) Gradiant (Chosen option) 
 (C) Fragmanted 
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(D) Exhaustive (Correct Answer)

Question No.11 Marks: 1.00
Bookmark     

Fill in the blanks with suitable Preposition from the given alternatives.
 

She is really angry ______ you.
 (A) in 

(B) since 
(C) among 
(D) with (Correct Answer) (Chosen option) 

 

Question No.12 Marks: 1.00
Bookmark     

Fill in the blank with suitable tense.
 

My father ____________ us to college every morning.
 (A) drives (Correct Answer) (Chosen option) 

 (B) has drove 
(C) drove 
(D) driven 

Question No.13 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
After receiving her master’s degree, Ruby had to complete an internship to become a
specialist in her field.

 (A) After receive her master’s degree, Ruby had 
(B) After receiving her master’s degree, Ruby have (Chosen option) 

 (C) After receive her master’s degree, Ruby have 
(D) The given sentence is correct (Correct Answer)

 

Question No.14 Marks: 1.00
Bookmark     

Find the word which is correctly spelt from the given options.
 (A) Impanding 

(B) Transiant 
(C) Medeate 
(D) Virtuoso (Correct Answer)

 

Question No.15 Marks: 1.00
Bookmark     

Fill in the blank with suitable word from the given options.
 

The smoke ______________ from the stove was a clear sign something was burning.
 (A) paying 

(B) emanating (Correct Answer) (Chosen option) 
 (C) chatting 

(D) quitting 
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Question No.16 Marks: 1.00
Bookmark     

Select the one word which can substitute the given phrase/sentence.
 

One who is for pleasure of eating and drinking.
 (A) Truant 

(B) Heretic 
(C) Grove 
(D) Epicure (Correct Answer)

 

Question No.17 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

 
(A) The precautionary dose for the priority group / (B) are available for free at / (C) the
government vaccination centres. / (D) No Error

 (A) A 
(B) B (Correct Answer) (Chosen option) 

 (C) D 
(D) C 

Question No.18 Marks: 1.00
Bookmark     

Select the one word which can substitute the given phrase/sentence.
 

An error or misprint in printing or writing.
 (A) Usurer 

(B) Hangar 
(C) Erratum (Correct Answer) (Chosen option) 

 (D) Invincible 

Question No.19 Marks: 1.00
Bookmark     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)

 
(A) Indian citizens and students travelling / (B) abroad can soon take the third
precautionary dose / (C) of the vaccine against Covid-19. / (D) No Error

 (A) B 
(B) A 
(C) C 
(D) D (Correct Answer) (Chosen option) 

 

Question No.20 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
DEPOSE ".

 (A) Subvert 
(B) Allow (Correct Answer)

 (C) Dismiss (Chosen option) 
 (D) Bounce 

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



Question No.21 Marks: 1.00
Bookmark     

Select the one word which can substitute the given phrase/sentence.
 

Anything derived from heterogeneous sources.
 (A) Centennial 

(B) Insolation 
(C) Igloo 
(D) Hybrid (Correct Answer) (Chosen option) 

 

Question No.22 Marks: 1.00
Bookmark     

Choose the correct article to complete the following sentence.
 

Russian policies are thought by many to be among _________ best in the world.
 (A) the (Correct Answer) (Chosen option) 

 (B) No article 
(C) a 
(D) an 

Question No.23 Marks: 1.00
Bookmark     

Choose the word which expresses nearly the opposite meaning of the given word "
ENTIRETY ".

 (A) Complex 
(B) Aggregate 
(C) Gross 
(D) Section (Correct Answer) (Chosen option) 

 

Question No.24 Marks: 1.00
Bookmark     

Fill in the blank with the appropriate article a, an, or the, or select the option ‘No article’ if
no article is needed.

 
The Taj Mahal is one of __________ World’s wonder.

 (A) a 
(B) the (Correct Answer)

 (C) an 
(D) No article (Chosen option) 

 

Question No.25 Marks: 1.00
Bookmark     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

 
It's disorienting to saw guys completely disregard traffic rules and speed limits.

 (A) for see guys completely disregard 
(B) to see guys completing disregard 
(C) to see guys completely disregard (Correct Answer) (Chosen option) 

 (D) The given sentence is correct 
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Odia Language - Odia Language

Question No.1 Marks: 1.00
Bookmark     

'ମହା�'ର �ୀଲି� କ'ଣ ? 
 

(A) ମହ� 

(B) ମହା� ି

(C) ମହନୀୟ 

(D) ମହତୀ (Correct Answer) (Chosen option) 
 

Question No.2 Marks: 1.00
Bookmark     

'େଦବାଥ�' - େକଉଁ ସମାସ ?
 

(A) ତ� ପରୁୁଷ ସମାସ 

(B) �ଗୁି ସମାସ 

(C) ନତି� ସମାସ (Correct Answer)

(D) ବହୁ�ୀହ ିସମାସ 

Question No.3 Marks: 1.00
Bookmark     

ଶୁ� ରୂପଟ ିବାଛ ।
 

(A) ଗୂଣୀବୃ� 

(B) ଗୁଣୀବ�ୃ� 

(C) ଗୁଣୀବୃ� (Chosen option) 
 

(D) ଗୁଣିବୃ� (Correct Answer)
 

Question No.4 Marks: 1.00
Bookmark     

ଶୁ� ରୂପଟ ିନ�ି�ୟ କର ।
 

(A) ଦଗିମ�ର (Correct Answer) (Chosen option) 
 

(B) ଦଗିାମର 

(C) ଦଗିମାର 

(D) ଦଗିାମ�ର 

Question No.5 Marks: 1.00
Bookmark     

'ନମି�ିାଥ�କ' ଶ� େଯାଗେର େକଉଁ ବଭି�ି ହୁଏ ? 
(A) ଷ�ୀ 
(B) ପ�ମୀ 
(C) ଚତୁଥ�ୀ (Correct Answer) (Chosen option) 

 
(D) �ଥମା 
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Question No.6 Marks: 1.00
Bookmark     

ଠକି ଶ�ଟ ିଚ�ିାଇ ଦଅି। ?
 

(A) ବ�ିାସନୀୟ 

(B) ବ�ିସନୟି 

(C) ବ�ିଶନୀୟ 

(D) ବ�ିସନୀୟ (Correct Answer) (Chosen option) 
 

Question No.7 Marks: 1.00
Bookmark     

'ଅସଆି କାଳର ମସହିା'- ରୂଢ଼ଟିରି େକଉଁ ଅଥ� ଠକି ?
 

(A) ଖ�ୁ ଆଧୁନକି 

(B) କାଳାନୁ�େମ ହସିାବ କରବିା 
(C) ଅଶୀ ମସହିାର ଘଟଣା (Chosen option) 

 
(D) ଅତ ିପରୁୁଣା (Correct Answer)

 

Question No.8 Marks: 1.00
Bookmark     

�ଦ� ଶ� ମ�ରୁ େକଉଁ ଶ�ଟ ିଠକି - ଚ�ିାଇ ଦଅି ?
 

(A) ମ�ାକନିୀ (Correct Answer) (Chosen option) 
 

(B) ମ�ାକୀନ ି

(C) ମ�ାକୀନୀ 
(D) ମ�ାକନି ି

Question No.9 Marks: 1.00
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'ଜପାମାଳ'ି- ରୂଢ଼ଟିରି େକଉଁ ଅଥ� ଠକି ? 
(A) ଜପ କାଳେର ବ�ବହୃତ ମାଳ ି

(B) ତୁଳସୀମାଳ ି(Chosen option) 
 

(C) େଯଉଁ ମାଳକୁି ଜପ କର� ି

(D) ଅତ�ିିୟ (Correct Answer)
 

Question No.10 Marks: 1.00
Bookmark     

'ଶରାହତ' - େକଉଁ ସମାସ ?
 

(A) କମ�ଧାରୟ ସମାସ 

(B) ତ� ପରୁୁଷ ସମାସ (Correct Answer) (Chosen option) 
 

(C) �ଗୁି ସମାସ 

(D) ନତି� ସମାସ 

Question No.11 Marks: 1.00
Bookmark     
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'ପରୁୀରୁ େକାଣାକ� ତରିଶି ିମାଇଲ'- ବାକ�େର �ବା 'ପରୁୀରୁ' େକଉଁ ବଭି�ି ?
(A) ଷ�ୀ (Chosen option) 

 
(B) ସ�ମୀ 
(C) ଚତୁଥ�ୀ 
(D) ପ�ମୀ (Correct Answer)

 

Question No.12 Marks: 1.00
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‘ନୃତ�’ ଶ�ଟ ିେକଉଁ �କାର ଶ�?
 

(A) ତ�ବ 

(B) େଦଶଜ 

(C) େବୈଦଶକି 

(D) ତ� ସମ (Correct Answer) (Chosen option) 
 

Question No.13 Marks: 1.00
Bookmark     

‘େରାଗୀ’ ଶ�ର ବପିରୀତାଥ�କ ଶ�ଟ ିକଣ?
 

(A) ନେିରାଗୀ 
(B) ନୀେରାଗ (Correct Answer) (Chosen option) 

 
(C) ବେିରାଗ 

(D) ନେିରାଗ 

Question No.14 Marks: 1.00
Bookmark     

ବେିଶଷ ପଦ ‘େ�ହ’ର ବେିଶଷଣ ରୂପ େଲଖ ।
 

(A) �ି� (Correct Answer)
 

(B) େ�ହୃତ 

(C) �ିହ� 
(D) େ�ହତି 

Question No.15 Marks: 1.00
Bookmark     

‘ଆ� ପକାଇବା’ ଉ� ରୂଢ଼ରି ଠ�ି ଅଥ�ଟ ିବାଛ ।
 

(A) ପସ� କରବିା 
(B) େମାଟା େମାଟ ିେଦ�ବା 
(C) ଜା�ତ କରାଇବା 
(D) େଲାଲୁପ ଦୃ�ିେଦବା (Correct Answer) (Chosen option) 

 

Question No.16 Marks: 1.00
Bookmark     

‘ଚୟନ’ ଶ�ର ସଂ�ବେି�ଦ କର ।
 

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



(A) ଚ+ିଅନ 

(B) ଚୟ+ନ (Chosen option) 
 

(C) ଚ+ୟନ 

(D) େଚ+ଅନ (Correct Answer)
 

Question No.17 Marks: 1.00
Bookmark     

‘ଆଇନ’ର ବପିରୀତାଥ�େବାଧକ ଶ�ଟ ିେଲଖ ।
 

(A) ଅନାଇନ 

(B) ଆନ 

(C) େବଆଇନ (Correct Answer) (Chosen option) 
 

(D) ଇନ 

Question No.18 Marks: 1.00
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ଅପଚୟର ବପିରୀତାଥ�କ ଶ�ଟ ିକଣ?
 

(A) ଉପଚୟ (Correct Answer) (Chosen option) 
 

(B) ନଚିୟ 

(C) ଅଚୟ 

(D) ଅବଚୟ 

Question No.19 Marks: 1.00
Bookmark     

‘ମଣୃ�ୟ’ ଶ�ର ସ�ବିେି�ଦ କେଲ େକଉଁ ରୂପଟ ିମଳିବି?
 

(A) ମୃ� +ମୟ (Correct Answer)
 

(B) ମ�ୃ +ମାୟ 

(C) ମ�ୃ +ମୟ (Chosen option) 
 

(D) ମ�ୃ +ମୟ 

Question No.20 Marks: 1.00
Bookmark     

େକାହଲା ପାଗ େହଇଛ ି। େରଖା�ିତ ପଦଟ ିକ ି�କାର ବେିଶଷଣ?
 

(A) ପରମିାଣ ବାଚକ 

(B) ସଂଖ�ାବାଚକ 

(C) ଅବ�ାବାଚକ (Correct Answer) (Chosen option) 
 

(D) �ିୟାବାଚକ 

Question No.21 Marks: 1.00
Bookmark     

େଯଉଁ କ��ା ନେିଜ କାଯ�� ସଂପାଦନା ନ କର ିଅନ��ାରା କରାଏ ତାକୁ କଣ କହ�?ି
 

(A) ମଖୁ� କ��ା 
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(B) ଊହ� କ��ା (Chosen option) 

(C) �େୟାଜକ କ��ା (Correct Answer)
 

(D) �େଯାଜ� କ��ା 

Question No.22 Marks: 1.00
Bookmark     

'ତେଳ ପକାଇବା'- ରୂଢ଼ଟିରି େକଉଁ ଅଥ� ଠକି ?
 

(A) ତଳକୁ ଗୁରୁ� େଦବା 
(B) ତଳ ଉପର େହବା 
(C) ତେଳ େଫାପାଡ଼େିଦବା 
(D) ଅମାନ� କରିବା (Correct Answer) (Chosen option) 

 

Question No.23 Marks: 1.00
Bookmark     

ନଆିଁକୁ ପାଣି ଆବଶ�କ । େରଖା�ିତ ପଦର ବଭି�ି ନ�ି�ୟ କର ।
 

(A) �ତିୀୟା 
(B) �ଥମ ବଭି�ି (Chosen option) 

 
(C) ପ�ମୀ 
(D) ଚତୁଥ�ୀ (Correct Answer)

 

Question No.24 Marks: 1.00
Bookmark     

ତୁେମ କାହାକୁ େଖାଜୁଛ ? େରଖା�ିତ ପଦଟ ିକ ି�କାର ସବ�ନାମ ?
 

(A) �ଶ�ବାଚକ ସବ�ନାମ (Correct Answer)
 

(B) ନ�ି�ାୟକ ସବ�ନାମ 

(C) ସମ��ବାଚକ ସବ�ନାମ (Chosen option) 
 

(D) ନେି��ଶା�କ ସବ�ନାମ 

Question No.25 Marks: 1.00
Bookmark     

'ସଂସାର' - ଶ�ର ସମାଥ�େବାଧକ ଶ� କ'ଣ ?
 

(A) ଭବନ (Chosen option) 
 

(B) ଭୁବନ (Correct Answer)
 

(C) ନ� 

(D) ଧର�ିୀ 

General Studies - General Studies

Question No.1 Marks: 1.00
Bookmark     

What is 25% of 50% of 75% of 80% of 4520?
 (A) 339 (Correct Answer)

 (B) 359 
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(C) 349 
(D) 329 (Chosen option) 

 

Question No.2 Marks: 1.00
Bookmark     

Find the next term in the given series.
 D73, Y64, T55, O46, ?

 (A) I37 
(B) I36 
(C) H36 
(D) J37 (Correct Answer) (Chosen option) 

 

Question No.3 Marks: 1.00
Bookmark     

Find the fraction of 0.538888…
 (A) 485/900 (Correct Answer)

 (B) 481/900 (Chosen option) 
 (C) 483/900 

(D) 487/900 

Question No.4 Marks: 1.00
Bookmark     

World's first Deaf T20 Cricket championship in 2023 will be held in which country?
 (A) India (Correct Answer) (Chosen option) 

 (B) New Zealand 
(C) Australia 
(D) Sri Lanka 

Question No.5 Marks: 1.00
Bookmark     

Find the next number in the series.
 3, 32, 135, 384, 875, ?

 (A) 1728 (Correct Answer)
 (B) 1928 

(C) 1628 
(D) 1828 

Question No.6 Marks: 1.00
Bookmark     

When is Indian Army Day Celebrated?
 (A) February 24th 

(B) September 7th 
(C) January 15th (Correct Answer) (Chosen option) 

 (D) June 16th 

Question No.7 Marks: 1.00
Bookmark     

In India, the Kisan Credit Card (KCC) scheme was introduced in the year:
 (A) 2000 

(B) 1998 (Correct Answer)
 (C) 1996 (Chosen option) 
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(D) 1993 

Question No.8 Marks: 1.00
Bookmark     

Which of the following religions was patronized by King Kharavela of Kalinga?
 (A) Jainism (Correct Answer) (Chosen option) 

 (B) Buddhism 
(C) Saktism 
(D) Brahminism 

Question No.9 Marks: 1.00
Bookmark     

Find the highest length which can be used to exactly measure the lengths 46 m, 69 m,
92 m and 115 m. (In m)

 (A) 23 (Correct Answer) (Chosen option) 
 (B) 25 

(C) 29 
(D) 27 

Question No.10 Marks: 1.00
Bookmark     

________ is a form of government in which the rulers are elected by the people.
 (A) Dictatorship 

(B) Democracy (Correct Answer) (Chosen option) 
 (C) Autocracy 

(D) Aristocracy 

Question No.11 Marks: 1.00
Bookmark     

The 13th century, Ananta-Vasudeva Temple was built by the _________.
 (A) Queen Tribhubana 

(B) Queen Kalavati 
(C) Queen Parvati 
(D) Queen Chandrika (Correct Answer)

 

Question No.12 Marks: 1.00
Bookmark     

Who is called the "Grand Old Man of India"?
 (A) Dadabhai Naoroji (Correct Answer) (Chosen option) 

 (B) Badruddin Tyabji 
(C) Anandha Charlu 
(D) E V Ramsamy 

Question No.13 Marks: 1.00
Bookmark     

__________ is the northernmost Union Territory of India.
 (A) Puducherry 

(B) Chandigarh 
(C) Jammu and Kashmir 
(D) Ladakh (Correct Answer) (Chosen option) 

 

ddd.fp
a�

�h
a�f

.��
�

D�d���a�f� ���� ddd.fpa��ha�f.���



Question No.14 Marks: 1.00
Bookmark     

Where does the River Godavari originate in India?
 (A) Jalagoan 

(B) Nasik (Correct Answer) (Chosen option) 
 (C) Nagpur 

(D) Beed 

Question No.15 Marks: 1.00
Bookmark     

A train, 167 m long, passes a platform which is 319 m long in 18 seconds. Find the
speed of the train in m/sec.

 (A) 23 (Chosen option) 
 (B) 27 (Correct Answer)

 (C) 29 
(D) 25 

Question No.16 Marks: 1.00
Bookmark     

Which Indian Freedom fighter raised the slogan, "Freedom is my birth-right and I shall
have it”?

 (A) Pherozeshah Mehta 
(B) Badruddin Tyabji 
(C) Dadabhai Naoroji 
(D) Bal Gangadhar Tilak (Correct Answer) (Chosen option) 

 

Question No.17 Marks: 1.00
Bookmark     

A bought an article and spent Rs.515 on its repairs. He then sold it to B at a profit of
20%. B sold it to C at a loss of 10%. C finally sold it for Rs.2808 at a profit of 30%. How
much did A pay for the article? (In Rs.)
(A) 1485 (Correct Answer) (Chosen option) 

 (B) 1497 
(C) 1495 
(D) 1510 

Question No.18 Marks: 1.00
Bookmark     

How many times was the Preamble of the Indian Constitution amended so far?
 (A) 1 (Correct Answer) (Chosen option) 

 (B) 4 
(C) 2 
(D) 3 

Question No.19 Marks: 1.00
Bookmark     

A man walked 9km North, then 3km towards East and took a right turn and walked 9km,
then turned right and walked 3km. Finally, he walked 6km towards South. How far and in
what direction is the starting point from the ending point? 

 (A) 5km, East 
(B) 6km, South (Chosen option) 

 (C) 7km, South 
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(D) 6km, North (Correct Answer)
 

Question No.20 Marks: 1.00
Bookmark     

If the average marks of three classes of 60, 65 and 70 students are 60, 65, 70
respectively, find the average marks of all the students. (Approximately)

 (A) 65.2564 (Correct Answer) (Chosen option) 
 (B) 67.2564 

(C) 63.2564 
(D) 61.2564 

Question No.21 Marks: 1.00
Bookmark     

_____________ was the only Indian state which has recorded a negative population
growth in 2011 Census. 

 (A) Nagaland (Correct Answer) (Chosen option) 
 (B) Arunachal Pradesh 

(C) Manipur 
(D) Assam 

Question No.22 Marks: 1.00
Bookmark     

Find the next number in the series.
 1260, 882, 567, 315, 126, ?

 (A) 32 
(B) 0 (Correct Answer)

 (C) 16 (Chosen option) 
 (D) -16 

Question No.23 Marks: 1.00
Bookmark     

Where is the headquarters of National Human Rights Commission of India located?
 (A) Chennai 

(B) New Delhi (Correct Answer) (Chosen option) 
 (C) Mumbai 

(D) Kolkata 

Question No.24 Marks: 1.00
Bookmark     

How many articles are there in United Nations Convention on the Rights of the Child
(UNCRC)?

 (A) 78 
(B) 26 
(C) 54 (Correct Answer)

 (D) 10 (Chosen option) 
 

Question No.25 Marks: 1.00
Bookmark     

6 litres is drawn from a cask full of wine and is then filled with water. This operation is
performed once more. The ratio of the quantity of wine now left in cask to that of the
water is 16:9. How much wine did the cask hold originally? (In litres)

 (A) 26 
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(B) 30 (Correct Answer) (Chosen option) 
 (C) 28 

(D) 24 

Question No.26 Marks: 1.00
Bookmark     

Which of the following mountains is a domed shaped and of volcanic origin in Odisha?
 (A) Mangalagiri 

(B) Mankarnacha (Chosen option) 
 (C) Meghasani (Correct Answer)
 (D) Malaygiri 

Question No.27 Marks: 1.00
Bookmark     

In stratosphere, which of the following elements acts as a catalyst for degradation of
ozone?

 (A) Iron 
(B) Chlorine (Correct Answer) (Chosen option) 

 (C) Potassium 
(D) Sodium 

Question No.28 Marks: 1.00
Bookmark     

If N5921 is divisible by 11, find the value of the smallest natural number N.
 (A) 8 (Correct Answer) (Chosen option) 

 (B) 14 
(C) 10 
(D) 12 

Question No.29 Marks: 1.00
Bookmark     

Mukteshvara Temple in Bhubaneswar is a 10th-century Hindu temple dedicated to:
 (A) Lord Brahma 

(B) Lord Shiva (Correct Answer) (Chosen option) 
 (C) Lord Vishnu 

(D) Lord Sun 

Question No.30 Marks: 1.00
Bookmark     

What value should come in the place of question mark (?) in the following question?
 (11×11)3÷(121×11)3×(14641)2 = 11?

 (A) 3 
(B) 7 
(C) 5 (Correct Answer)

 (D) 9 (Chosen option) 
 

Question No.31 Marks: 1.00
Bookmark     

When was the 'Right to Property" removed from the list of fundamental rights in the
Indian Constitution?

 (A) 1968 
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(B) 1999 
(C) 1958 
(D) 1978 (Correct Answer) (Chosen option) 

 

Question No.32 Marks: 1.00
Bookmark     

In this question, a statement is given followed by two conclusions numbered i and
ii. You have to assume everything in the statement to be true, then consider the
two conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statement.

 Statement: Soyabeans and cloves require a fair amount of farming space to grow. Mr.
Ravi has 50 acres of land.

 Conclusion:
 i) Mr. Ravi can cultivate Soyabeans.

 ii) Mr. Ravi can cultivate Cloves.
 

Choose the appropriate one from the following options
 (A) Only conclusion i follows

 (B) Only conclusion ii follows
 (C) Either i or ii follows

 (D) Neither i nor ii follows 
 (E) Both i and ii follow.

 (A) B 
(B) A 
(C) C (Chosen option) 

 (D) D (Correct Answer)
 

Question No.33 Marks: 1.00
Bookmark     

Rana Pratap Sagar dam is located in which of the following states of India?
 (A) Arunachal Pradesh 

(B) Rajasthan (Correct Answer) (Chosen option) 
 (C) Orissa 

(D) Uttarakhand 

Question No.34 Marks: 1.00
Bookmark     

Which of the following writs in the Indian Constitution literally means "to be certified"?
 (A) Certiorari (Correct Answer) (Chosen option) 

 (B) Mandamus 
(C) Habeas Corpus 
(D) Quo Warranto 

Question No.35 Marks: 1.00
Bookmark     

Which Village of Kerala has become the country's first sanitary napkin-free panchayat?
 (A) Kumbalanghi (Correct Answer)

 (B) Kuttanad 
(C) Attappady 
(D) Nilambur (Chosen option) 

 

Question No.36 Marks: 1.00
Bookmark     

Which Article of Part III of the Indian Constitution, defines the term 'State'?
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 (A) Article 12 (Correct Answer)
 (B) Article 13 (Chosen option) 

 (C) Article 19 
(D) Article 17 

Question No.37 Marks: 1.00
Bookmark     

A box containing the denominations of twenty five paise coins, fifty paise coins and two
rupee coins amount to Rs.660. There are equal number of coins in all denominations.
Find the total number of two rupee coins in the box.

 (A) 260 
(B) 230 
(C) 250 
(D) 240 (Correct Answer) (Chosen option) 

 

Question No.38 Marks: 1.00
Bookmark     

A, B and C can complete a piece of work in 723, 482 and 1446 days respectively.
Working together, they will complete the same work in how many days?

 (A) 261 
(B) 251 
(C) 241 (Correct Answer) (Chosen option) 

 (D) 231 

Question No.39 Marks: 1.00
Bookmark     

A woman walked 3km in the West direction, took a left turn and walked 7km and walked
14km after taking another left. She then walked 7km in the North direction and finally
took a left turn and covered the distance of 4km. How far is the starting point from the
ending point?

 (A) 7km (Correct Answer) (Chosen option) 
 (B) 13km 

(C) 11km 
(D) 9km 

Question No.40 Marks: 1.00
Bookmark     

Read the given details carefully and answer the question given below
 

A+B means A is the sister of B
 A-B means A is the brother of B
 A*B means A is the father of B

 A/B means A is the mother of B
 

In the relation P/Q-R-S/T, how is R related to T?
 (A) Maternal Grandfather 

(B) Maternal Uncle (Correct Answer) (Chosen option) 
 (C) Paternal Grandmother 

(D) Paternal Grandfather 

Question No.41 Marks: 1.00
Bookmark     

Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is the flagship scheme of which of the
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following Ministries?
(A) Ministry of rural development 
(B) Ministry of Youth Affairs and Sports 
(C) Ministry of Micro, Small and Medium Enterprises 
(D) Ministry of Skill Development & Entrepreneurship (Correct Answer)

(Chosen option) 
 

Question No.42 Marks: 1.00
Bookmark     

A train started from station A and proceeded towards station B at a speed of 212 kmph.
45 minutes later, another train started from station B and proceeded towards station A at
20 kmph. If the distance between the two stations is 855 kms, at what distance from
station A will the trains meet? (In km)

 (A) 785 
(B) 795 (Correct Answer)

 (C) 765 
(D) 775 

Question No.43 Marks: 1.00
Bookmark     

Which of the following Constitutional Amendment Acts of the Indian Constitution gave
constitutional status to Panchayats?

 (A) 75th Constitutional amendment 
(B) 79th Constitutional amendment 
(C) 77th Constitutional amendment 
(D) 73rd Constitutional amendment (Correct Answer) (Chosen option) 

 

Question No.44 Marks: 1.00
Bookmark     

In a certain code language, if AND is coded as 462 and RAM is coded as 147, then how
is MAN coded?

 (A) 746 (Correct Answer) (Chosen option) 
 (B) 146 

(C) 412 
(D) 627 

Question No.45 Marks: 1.00
Bookmark     

The standard Meridian of India passes through which of the following cities?
 (A) Raipur 

(B) Annupur 
(C) Mirzapur (Correct Answer) (Chosen option) 

 (D) Janupur 

Question No.46 Marks: 1.00
Bookmark     

Where was the first session of the Indian National Congress held? 
(A) Madras 
(B) Surat 
(C) Bombay (Correct Answer) (Chosen option) 

 (D) Lucknow 
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Question No.47 Marks: 1.00
Bookmark     

Sulfurous smog is also known as ___________.
 (A) London Smog (Correct Answer)

 (B) Delhi Smog 
(C) Tokyo Smog 
(D) Los Angeles Smog (Chosen option) 

 

Question No.48 Marks: 1.00
Bookmark     

The Kaveri water dispute is between which of the following two Indian states?
 (A) Tamil Nadu and Karnataka (Correct Answer) (Chosen option) 

 (B) Karnataka and Telangana 
(C) Tamil Nadu and Andhra Pradesh 
(D) Telangana and Maharashtra 

Question No.49 Marks: 1.00
Bookmark     

The famous Barabati Fort was constructed in 1229 A.D by the:
(A) King Bhanu Deva I 
(B) King Anangabhimadeva lll (Correct Answer) (Chosen option) 

 (C) King Bhanudeva IV 
(D) King Narasimhadeva I 

Question No.50 Marks: 1.00
Bookmark     

The Champaran Satyagraha of 1917 was the first Satyagraha movement led by
___________ in India. 

 (A) Bal Gangadhar Tilak 
(B) Anandha Charlu 
(C) Mahatma Gandhi (Correct Answer) (Chosen option) 

 (D) E V Ramasamy 
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